Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 13 - Westhill and District

5,706

4

1,142

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Stephen William CAMERON	Independence for Scotland Party	36
Fatima JOJI	Scottish National Party (SNP)	1,430
Ron MCKAIL	Scottish Conservative and Unionist	1,655
Colin MCKAY	Alba Party for independence	48
Craig MILLER	Scottish Conservative and Unionist	605
Iris Margaret WALKER	Scottish Liberal Democrats	1,498
Lesley YOUNG	Scottish Labour Party	434
	Total	5,706

Candidate Fatima JOJI Elected with 1,430 votes, being in excess of the quota of 1,142
Candidate Ron MCKAIL Elected with 1,655 votes, being in excess of the quota of 1,142
Candidate Iris Margaret WALKER Elected with 1,498 votes, being in excess of the quota of 1,142

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ron MCKAIL

513.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CAMERON	7	0.30996	2.16972
Transfer to Colin MCKAY	15	0.30996	4.64940
Transfer to Craig MILLER	1,437	0.30996	445.41252
Transfer to Lesley YOUNG	67	0.30996	20.76732
No further preference	129	0.30996	39.98484
Not transferred due to rounding			0.01620
	Total		513.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Iris Margaret WALKER

356.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CAMERON	36	0.23765	8.55540
Transfer to Colin MCKAY	36	0.23765	8.55540
Transfer to Craig MILLER	355	0.23765	84.36575
Transfer to Lesley YOUNG	628	0.23765	149.24420
No further preference	443	0.23765	105.27895
Not transferred due to rounding			0.00030
	Total		356.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Fatima JOJI

288.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CAMERON	288	0.20139	58.00032
Transfer to Colin MCKAY	196	0.20139	39.47244
Transfer to Craig MILLER	45	0.20139	9.06255
Transfer to Lesley YOUNG	501	0.20139	100.89639
No further preference	400	0.20139	80.55600
Not transferred due to rounding			0.01230
	Total		288.00000